
 

 

Cloze Test 1 

Recently, I visited an orphanage for differently abled 
(1) in Delhi. The courteous staff (2) me feel at home 
and allowed me to interact (3) with the children. I 
was told beforehand that I could carry food packets 
and items of daily use like stationery, blankets, and 
clothes (4) the children, who were in the age group of 
five to 13. The children were a cheerful lot, the 
smiles on (5) faces reflecting the joy within on 
receiving gifts. 

1. (a) children  (b) child’s  (c) child   

(d) children’s 

2. (a) made   (b) make  (c) makes   

(d) was made 

3. (a) freely   (b) truly  (c) heartily   

(d) clearly 

4. (a) for   (b) with  (c) by    

(d) of 

5. (a) that   (b) those  (c) them   

(d) their 

 

Cloze Test 2 

Families, particularly those with children and who 
have the means, are opting to (1) from Delhi driven 
by the increasing air pollution and (2) impact on 
health. Delhi’s Air Quality Index had (3) a three-year-
low this year, post-Diwali, creating a (4) polluted 
atmosphere which led to (5) problems in many, 
forcing people to wear masks outdoors and install 
air purifiers at home. 

1. (a) reschedule  (b) relocate    

(c) reinstate   (d) restart 

2. (a) their   (b) it’s    

(c) its    (d) their’s 

3. (a) produced  (b) leaped    

(c) hit    (d) bagged 

4. (a) separate  (b) dissatisfied   

(c) conditionally  (d) severely 

5. (a) renal   (b) brain   

 (c) respiratory  (d) abdominal 

 

Sentence Arrangement 

A . The move follows last week’s fatal Ethiopian 
Airlines  crash. 

B.  Aircraft manufacturer Boeing has 
grounded the entire global  fleet of its 737 
Max aircraft. 

C.  Last October, a plane from the Indonesia 
based carrier Lion  Air had also crashed 
under similar circumstances. 

D.  That was the second time in 5 months a 
737 Max has  crashed. 

(a) ABCD (b) BCDA (c) BADC (d) DABC 

A .The market which has remained clogged with 
vehicles  was all clear for pedestrians. 

B.  The road has even been marked with 
stripes demarcating  space for hawkers. 

C.  It is also lined with beautiful potted plants 
to give it a green  look. 

D.  Visitors to the busy Karol Bagh market in 
Delhi were in for a  surprise. 

(a) DCBA (b) DABC (c) ADBC (d) BDAC 

A .Its value is linked to what it is being used for. 

B. Such questions often baffle you. 

C. How emotional should one get about 
money and its value? 

D.  Money on its own has no value, until you 
have some use  for it. 

(a) CABD    (b) DBAC   (c) CBDA   (d) ACDB 



 

 

A. While the long thin ones are most 
common, there are many  other varieties. 

B.  Noodles are the staple food in many 
cultures across the  world. 

C. They are then served with a sauce or in 
soup. 

D. However, all varieties are usually cooked in 
boiling water. 

(a) BCAD (b) BADC (c) BDAC (d) BCDA 

A. Accommodation and food were given free. 

B.  This was held in a hostel for poor students 
built by a  philanthropist. 

C. A few years ago, I was the chief guest at a 
small function. 

D.  But the inmates of the hostel had to bear 
other expenses  like clothing and toiletries. 

(a) CBAD 

(b) BCAD 

(c) ABCD  

(d) BCDA 

 

Passage 

What if globally designed products could radically 
change how we work, produce and consume? 
Several examples across continents show the way 
we are producing and consuming goods could be 
improved by relying on globally shared digital 
resources, such as design, knowledge and software. 
Imagine a prosthetic hand designed by 
geographically dispersed communities of scientists, 
designers and enthusiasts in a collaborative manner 
via the web. All knowledge and software related to 
the hand is shared globally as a digital commons.  

People from all over the world who are connected 
online and have access to local manufacturing 
machines (from 3D printing and CNC machines to 
low-tech crafts and tools) can, ideally with the help 

of an expert, manufacture a customised hand. This 
is the case of the Open Bionics project, which 
produces designs for robotic and bionic devices. 
There are no patent costs to pay for. Less 
transportation of materials is needed, since a 
considerable part of the manufacturing takes place 
locally; maintenance is easier, products are 
designed to last as long as possible, and costs are 
thus much lower.  

1. Select the most suitable word from the passage 
which means ‘scattered’. 

1. Shared 

2. Collaborative 

3. Dispersed 

4. Customised 

2. What is the term used in the passage for globally 
shared digital things? 

1. Digital world 

2. Digital information 

3. Digital commons 

4. Digital resources 

3. Which of the following is NOT a globally shared 
digital resource? 

1. Knowledge  2. Software 

3. Design  4. Automobile 

4. Identify the most suitable title for the given 
passage. 

1. Shared Information 

2. Customised Hand 

3. Digital Globalisation 4. Knowledge Explosion 

5. What is the tone of the author? 

1. Speculative 2. Belligerent 

3. Caustic 

4. Acerbic 



 

 

Spotting Errors 

61. He married with a rich heiress last year. 

1. with a rich heiress 

2. No error 

3. last year 

4. He married 

62. He went to work but returned back 
immediately. 

1. immediately 

2. He went 

3. but returned back 

4. to work 

63. The present what I buy for you yesterday was 
very  expensive. 

1. was very expensive 

2. The present 

3. for you yesterday 

4. what I buy 

64. As a little child she was afraid from darkness. 

1. from darkness 

2. she was afraid 

3. No error 

4. As a little child 

65. Plenty of information were given to me at the 
tourist  office. 

1. No error 

2. Plenty of information 

3. at the tourist office 

4. were given to me 

66. If a few drops of lemon are put in the milk, it 
has  turned sour. 

1. If a few 

2. drops of lemon 

3. are put in the milk 

4. it has turned sour 

67. Mohit did not went to school yesterday as he 
was  unwell. 

1. went to school 

2. was unwell 

3. yesterday as he 

4. Mohit did not 

68. We must get this post send as soon as 
possible. 

1. We must get 

2. soon as possible 

3. this post 

4. send as 

69. Sita has no taste in classical dance. 

1. classical dance 

2. Sita has 

3. no taste 

4. in 

70. It’s raining heavily, so you should take an 
umbrella,  but you will get wet. 

1. It’s raining heavily 

2. but you will get wet. 

3. so you 

4. should take an umbrella 

71. The big ship sank and everyone abroad 
drowned. 

1. The big ship 

2. abroad drowned 

3. and everyone 

4. sank 



 

 

 

72. No sooner did I come out of my home to 
go to  market (1)/ when it started raining 
heavily (2)/ which  drenched me 
completely. (3)/ No Error (4) 

73. Unless you don't obey (1)/ your elders 
you (2)/ will  not succeed in your life. (3)/ No 
Error (4) 

 

 

74. Hardly had I reached the (1)/ exhibition where I  
learnt (2)/ about the major robbery. (3)/ No Error 
(4) 

75. No sooner did the sun rise (1)/ when we 
resumed  the journey (2)/ after having a hasty 
breakfast. (3)/  No Error (4) 

 

 

Cloze Test 1 

1. a 

2. a 

3. a 

4. a 

5. d 

 

Cloze Test 2 

1. b 

2. c 

3. c 

4. d 

5. c 

 

 

Sentence Arrangement 

1. c 

2. b 

3. c 

4. b 

5. a 

 

Passage 

1. 3 

2. 3 

3. 4 

4. 3 

5. 1 

 

Spotting Errors 

61. 1 

62. 3 

63. 4 

64. 1 

65. 4 

66. 4 

67. 1 

68. 4 

69. 4 

70. 2 

71. 2 

72. 2 

73. 1 

74. 2 

75. 2 

 

 

 

 


